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On inscribed quadrilaterals of the circle

Tamafumi KANEYAMA

Abstract
Take n points on a circle which divide equally the circle. Choose four points from
n points and make inscribed quadrilaterals of the circle. In this case, some quadrilaterals
are congruent by rotating or flipping. How many non-congruent quadrilaterals are

there? In this paper we calculate the number of non-congruent quadrilaterals.
F-v—F NEUAE, Al

1. FULBIC

MENREHRLTZEDS HD 4 [HENRDFESEWUAENTE S, TDLEMAIEOMNUAIENT
50, BEzL7ch, FRLZZODTI2BETHETH 2 DPERTRVWIHEMAIEND 5. Zoth
T, ABRITEVWHARZ G EONOEE N D 512551, O EINI/NSOE X FEHEICKA S &
MTEB. n=1,23 0 4 SENEOASHAFEEY. n=4,50&X3UAKIR 1 B
DTHY, n=6DEXFBFATHRVWEIALIRI EBDTHS. KERNITHLTHEZTDLEI K
I IEE DS 2724 5D, T Bonic LAkl crOEHEofksRkn s & &
4 5.

2. MAFEOEMBEELA

CITIR, MENES LA, S A FUBCIIMIZEEIES & &, AT WA MRS 2
MEBZZD, DnHENED GIBATTE LA TR VAL OMEKE LT 5, nh/hsnd &
BPUAIEA T 12O, fifi) 5 & ZIRFEBRICHA TIRO L H 1218 5,

a1 =0,a2 =0,a3 =0,a4 =1,a5 =1,a6 = 3,a7 =4,a8 =8, -
MAn%S LT 48ER AR EIES D, ToOMAREED XS ICE&TPAREICLS, 4

HERZE 620D 4 HTHUAEEETOBRODL, FHRBZOELDHEEEZIZFBROOD
THAHm. TITE, MAROEBNE OV 2 THEHMhT, MHAEEELET I EICT 5.
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EE2. 1 HEREHLTLEAZIO NAIEEES.
P [a,b,c,d] &3, VUM O & 2T D SIHICA TR S a,b,¢c,d Tdb 2 PUfMi
KT, GREOUAREHES LS LITT 5.

1o & ZFROK D5

A A A
B H
B F B F
C G
C E C E
D F
D D E
[1,1,1,3] [1,1,2,2] 1,2,2,3]

tRT LTS, ki [1,1,2,2) Tth B, AN [1,2,2,3] TH B, [BERIZERANICE S £z
ZZNEBRWR S, HFONFEL2TOHRIBEV. AU A KT O BT ONEE % SOl
NPEFEV, bbb

[1,1,1,3 = [1,1,3,1] = [1,3,1,1] = [3,1,1,1]
1,1,2,2] =[1,2,2,1] = [2,2,1,1] = [2,1,1,2]
[1,2,2,3] = [2,2,3,1] = [2,3,1,2] = [1,3,2,2] = [3,2,2,1] = - --
BETHARNEGHORESTRS I Licd 5.
BANS, —FROVLAN 1 THILEEEALS.
EE2. 2 4HoRESH, la,bc ThAWEERETHE VI OHIZKDOEY TH 5.
1.1<a<b<cD&¥, 3FEH.
2.1=a<b<cDk¥%, 27
3 1l<a=b<cD&E, 2FH.
4. 1<a<b=cDl&Z%, 27FH.
5.1=a<b=cD&E, 27
6. l=a=b<cD&ZE, 1FEH.
7. a=b=cDL ¥, 1FH

M BADOEBICOVWTARITR VWA 2 HMA TANIFRY, FEE
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1. 1<a<b<ch&%, [l,a,b,,[1,b,a,c,[1,a,cb TH5.
BERLIE, 1HhOBEL6D0EELLL0bCcOIFITEEY H5H, ERLEHCLD,
BrolirEamEicd s Eickb,

[1,b,¢,a] =[1,a,¢,b], [l,c¢,a,b] =][1,b,a,c], [1,b,¢c,a]=]1,a,c]

LB mo 3FHTH 5.

l=a<b<coprx, [1,1,b,[1,1,¢,b] o 2f@ETH 5.
l<a=b<coprx, [1,a,a,c,[l,a,ca] @ 2f@HTH 5.
l<a<b=coprx, [1,a,b,b],[1,b,a,b D 21EHTH 5.
l=a<b=coprx, [1,1,b,0],[1,b,1,0] o 2f@kich 5.
l=a=b<coprx, [I,1,l,dosro1EHichs.
a=b=coprx, [l,a,a,a] DA 1 FEETH 5.

N O U1 s W DD

3. /NAN 1 DIFE
AiOfFiOMmEIC LD, &N 1 OEEE, 3 D20HKK a,b, ¢tk > THEEPUHIEI VL
OWREEZNS, 3OOHKK a,b,c DHD HEHANITER L.

ME3. 1 HA¥n= 31XLT, a+b+c=nEATHREOM (a,b,c) 1F
(n—1)(n—2)
2

Th 5.

ChidEmohfifcd s, AR LT, tx a0 RKOM (a,bc) 0%
kB AUZEWV, HCEHET EROGEOEIE LN S,

WmE3. 2 HAHn = 6120l T, a+btc=ni2skdHARKET S, KLOELEH
2% (a,b,c) DHOKIRBRDOED LS TH 5.
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n n = 6k n=6k+1 n==6k+2 n=6k+3 |n=6k+4 | n=6k+5

a,b,c D 2 OME L 9% —6 9k 9% 9%k 9% +3 9%k +6
a=b=c 1 0 0 1 0 0

a,bc TR B | 18k — 18k +6 | 18k% — 12k 18k2 — 6k 18k2 18k2 + 6k | 18k2 + 12k

1< a<b<e 3k? -3k +1 3k% — 2k 3k? —k 3k? 3k +k 3k? + 2k
l=a<b<e 3k—2 3k—2 3k—1 3k—1 3k 3k

l<a<b<ec 3k? —6k+3 | 3k%2—5k+2 | 3k? —4k+1 | 3k2—3k+1 | 3k%—2k 3k% -k
l<a=b<e 2k —2 2%k —1 2%k —1 2k —1 2k 2k
l<a<b=c k-1 k—1 k k-1 k k
l=a<b=c 0 1 0 1 0 1
l=a=b<c 1 1 1 1 1 1
a=b=c 1 0 0 1 0 0

COMEDHRKFZ LR SIHCHETNITEY., Z0RICED FOHEZROEOMIEZE S 7201
FLbDEFTLRLTHS.

mE3. 3 HAMn> 6L95, Mean+1HNLTTORTIAREES. /O 1
THh 5 EEHETEOUAEZOEEZ

i"z —n+1 (RO LX)
=g

Zn2_n_,_Z (n DA & %)
Th 5.

M RO GETRD 72 a,b,¢ DO L 0 AT TE WIEHEOMEBIZIRD & 5175 5.

1
n=6kDLE 9k2—6k+1=zn2—n+1

1
n=6k+10DL¥E 9k2—3k+1=1n2—n+£

n=6k+20DL%E 9k2:in2—n+1
7

1
n=6k+3DLE 9k2+3k+1=1n2_n+1

n=6k+4D&E 9k2+6k+1=:11n2—n+1

1
n=6k+5DLE 9k2—|—9k+321n2—n+£

- T, fpdEMRENT.
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4, —RDBE
RO Tl/NID 1 OBEO BRI TR WHAIEOE i E kD0 T, —KOLEEZER 5. K

INADS 2L F ORI ETOHOE NS, 1 %251 TEICED n—4 FERHOLEITRESNS.
£-7T

4. 1 HRHEnZ= 6&9%, HEn+1E L TEOATHAIEZES. ATV
ol Ean 45 & X,

Ap41 = f(n)+an—3
Ths. 2L f(n) &

%nz —n+1 (n PEHD LX)

f(n) = . ,
Zn2 —n+y (n WEHD & %)
TEHRS NGB TH 5.

ZoXF ar=a3=a3=0THsm15, n= 4 OEEKILT 3.
CORREHVC On OEEFHE L TA LS.

agnt1 = flAn)+ f(A(n—1))+---+ f(8) + a5

= fAn)+ fAn—-1))+ -+ f8)+ f(4) (as=1=f(4) &V)

(4k? — 4k + 1)

|
o
it

- %n(4n2—1) (n= 1)

Ganyz = fln+1)+fAMn-1)+1)+ -+ f(9) + f(5)

[
M=

(4k% — 2k + 1)
k

1

1
= §'r7,(4n2 +3n+2) (n>1)

Ganys = fl4n+2)+ f(4(n—1)+2) + -+ f(10) + f(6)

= Y 4k

k=1

- gn((n+ @2n+1) (n= 1)
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anta = [fAn+3)+fAn—1)+3)+ -+ f(A1) + f(7) + asa

n
= Y (4k?+2k+1)+1

k=1

1
= gn(4n2 +9n+8)+1

1
= §(4n3 +9n% +8n+3)

- %(n+1)(4n2+5n+3) (n= 1)

Nhidas=1Thin»o,

1
agn = zn(4n® —3n+2) (n= 1)

3

LERB, T, Qnt1d QU3 FROLHICE LD LN S,

1
Aon4+1 = g(n - l)n(n + 1)

(nz1)

PIFOERAE E EDTIROAMEAETE 5.

FE4, 2 HAHNLET S, MENFESLCZORTAAEEZES. ARRTRVIUAEOMEE

An DfE 1

1

Q4n = g

1

Gan4+2 = g

1

AQ2n+1 = 6
Th5.

COFEHTTRTDUDRKE 375,

(n—1)n(n+1)

= —ndn?-3n+2) (n=1)

n(4n®+3n+2) (n= 1)

(n= 1)

n O/NSEAETH L TOLEIRLTA B LIROL S TH 5.

nla, || n|a,|| n|ag n | ap
1,0 6 3 11 |20 || 16 | 72
210 7 4 12 | 29 || 17 | &4
310 8 8 13 | 35 || 18 | 104
4|1 9 | 10 || 14 | 47 || 19 | 120
51 10 | 16 || 15 | 56 || 20 | 145
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n D—fEIANRKE » 7203, D LEMTH 5. h L hEHET a0 UERE 2 BRI
WRE B,

4. 3

1. agny1 — Gan =n(n—1)
2. Qany2 — Qany1 =n(n +1)

2
3. G4n+3 — Qant2 ="

4. Ganta — Qangs = (n+1)2

n(n+1)

5. Gapy3 — agng1 = 5

5. AR DIES
MEzn%yLTHREND, hfilafEs. GHTROIAEOKREb, LT 2.

bl=b2=b3=b4=O,b5=1,b6=1,b7:3,b3=5,69:9,"'

T, DEERDTHB T EAFZAD., BAHIEAEOLEEE L THD, LEHELE
CHEVWGTH 5.
@b, 1 5LORIM, 1,a,b,¢,d ThEMAHTHEOHAIKOBIBZROED TH 5.
l.l1<a<b<ec<d®&Zx, 12 M

2. 1<a=b<c<dFEztidl<a<b=c<dFhldl<a<b<c=dDEZE, 6FHkH

8 1l=a<b<c<d®D&E%, 6

4 l<a=b<c=dFhlidl=a<b=c<dFhidl=a<b<c=dDEZ, 4FEM

S5 1l<a=b=c<dZhlil<a<b=c=dZFllil=a<b=c=dZkiZ
l=a=b<c<dFhiIl=a=b<c=dD &%, 2FEEH

6. 1l<a=b=c=dFhldl=a=b=c<dD&EZ, 1.

A A DA O WTARETHEWHAE A EEESHA TH S, [HRREFEOBD 3427
ZANERVWL, HRLEEEEVIHCTNIERY, EERO X ST 5B,
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6.

Hell B

.l<a<bge<dDEXx, 12FEEIT

[170" b’ C’d]7 []‘70'7 C, b7d]’ [1’b7 a? c’ d]? [1’b7 c’ a” d]’ [1707 a? b’d]7 [1767 b’ a’d]
[1’ a’ b? d’ c]? [17a’ c) d’ b]’ [1’ b7 a? d? C]? [1’ b? C’ d’ a]’ [1’ c7 a? d7 b]7 [1’ C? b’ d’ a]

.l<a=b<c<donrZE, 6FEHIR

1,a,a,¢,d],[1,a,a,d,c|,[1,a,c,a,d],[1,a,d,a,c],[1,a,c,d,al],[1,c,a,a,d
l<a<b=c<donLZ, 6l
[1,b,b,a,d],[1,b,b,d,a],[1,b,a,b,d],[1,b,d,b,a],[1,b,a,d,b],[1,a,b,b,d
l<a<b<c=don&Z, 6
[1,¢,¢,a,b],[1,¢,¢b,al,[1,c0a,c,b],[1,¢b,¢c,a],[1,¢,a,b,¢],[1,a,c,c,b]

.l=a<b<ec<donLE, (FEEE
1,1,b,¢,d,],[1,1,¢,b,d],[1,1,b,d, ¢, [1,b,1,¢,d],[1,¢,1,b,d],[1,d,1,b, ]

.l<a=b<c=dDEE, A [1,a,a,¢]1,0a,c,a,d,][1,a,c,c,a],[l,ca,a,c|
l=a<b=c<d®D&Z, 4FHIE [1,1,b,b,d],[1,1,b,d,b],[1,b,1,b,d],[1,d,1,b,b]
l=a<b<c=dD&E, 4FHEIEE [1,1,¢¢,b],[1,1,¢0b,d,[1,¢c1,¢,b],[1,b,1,¢,c]

c1<ae=b=c<do&t %, 2T [1,a,0,a,d],[1,0a,0a,d,a]
l<a<b=c=dD&%, 2M8HIE [1,b,b,b,a],[1,b,b,a,b]
l=a<b=c=dD&&, 2T [1,1,b,b,b],[1,b,1,b,b]
l=a=b<c<dD&Z, 2HEIE [1,1,1,¢d],[1,1,¢1,d]
l=a=b<c=dD&E, 2T [1,1,1,¢,[1,1,¢c1,c

l<a=b=c=dDLE, [l,a,a,a,a],1=a=b=c<dDEZ, [1,1,1,1,d]

6. EANETE
BiOHinZ &k, FhEhoBEaic>\WT, HARH a,bc,dla+b+c+d=n) DD
ZRODNFEV., ZNENOELEIODWTNHCERE L TWL ., RoMED vz, MEEOLE

WKHEHE L iR O Rl %= FHET 5,

wWE6. 1 0<b<c<d, btctd=m(m= 6) a3 HAKDMH p(Mm) &

m=12k DL & 12k =6k +1 m=12k+6DL&E 12k2+6k+1
m=12k+1DLE 122 — 4k m=12k+7DEE 12k2+8k+1
m=12k+20D L& 12k% -2k m=12k+8DLE 12k + 10k +2
m=12k+3D&E 12k> m=12k+9DLE 12k2+12k+3
m=12k+4D&E 12k%+2k m=12k+10 D& & 12k% + 14k + 4
m=12k+5D L& 12k% + 4k m=12k+11 DL & 12k2+16k+5

Th 5.
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k6. 2 a=1<b<c<d, at+bt+c+d=n(n= 10) ZAH T HAHOME

n=12k D& E 12k2 — 14k +4 n=12k+6DELE 12k2 -2k
n=12k+1DLE 12k2—-12k+3 n=12k+7DELE 12k?
n=12k+20D,LE 12k2—-10k+2 n=12k+8DLE 12k2+2k
n=12k+3DLE 12k2—-8k+1 n=12k+90DLE 12k +4k
n=12k+40DkLE 12k2—6k+1 n=12k+10DEE 12k2+6k+1
n=12k+5DL & 12k% — 4k n=12k+11D&E 12k*>+8k+1

Th 5.

BERLE, a=17m6, 0<b—1l<c—1<d—1, b—1)+(Cc—-1)+d—-1)=n—4
LOMEE. 1 ZWEHAT 5.

wmBE6. 3 0<a<b<c<d, a+bt+ct+d=n(n= 10) ZATHRKOMIZ

n=12k D& & 12k3 —15k2 +6k—1 n=12k+60D&LE 12k3 + 3k2

n=12k+10D&E 12k3 - 12k% + 3k n=12k+7DLE 12k3 +6k?

n=12k+20DLE 12k% — 9k2 + 2k n=12k+8D&E 12k3 + 9k% + 2k

n=12k+3D&LE 12k% — 6k? n=12k+90D&LE 123+ 12k% + 3k

n=12k+4DLE 12k3 - 3k? n=12k+10 D& E 12k3 +15k2 +6k+1

n=12k+50DL & 12k° —k n=12k+110DLE 12k3+18k2+8k+1
Thb.

il 0<a<b<c<d, atbt+c+d=n1d 0<b—a<c—a<d—a,(b—a)+(c—a)+
(d—a)=n—4a,a>0 L[ETH 2. ¥ =b—a,d =c—a,d =d—atBE, U+ +

-6

d=n—4a Ths. n—4a2 6L01< o< 2 coaicvl, V,d,d oK

AZBIOMEEFAVWTRONEERY, p(m) 3ME6. 1 OBiEdT 2L

"
A= Z p(n — 4a)

a=1

THED5, nIK>VTENENOLAICHETS. fllda=3h—2,3h—1,3h ® 3 DIH 1T
TitHd 5.

n=12k (k> 1) D&%

3k—2
A =3 p(n—4a)
a=1

~ é p(12(k — ) +8) + :Z::lp(m(k —h)+4) + :z::lp(m(k — b))
k—1 k—1 k—1
= ;p(ni +8)+ ; p(12i +4) + ; p(12i)
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k—1 k—1 k—1
= > (1262 +10i + 2) + > (1262 + 2i) + > (1242 — 66 + 1)
1=0 i=1 i=1

k-1

=2+ Y (36i% + 6i + 3)

i=1

=2+46(k—1)k(2k — 1) + 3k(k — 1) + 3(k — 1)

=12k —15k2 + 6k — 1

n=12k+1(k= 1) DEE

3k—2

A = az=:1 p(n — 4a)

_ hilp(lz(k—h) o)+ S

k—1

=S p(12i+9)+ X p(12i +5) +

i=0

k-1
=3+ > {(12i% + 12i + 3) + (12¢% + 4i) + (12i* — 44)}

i=1

k—1

k—1

i=1

k—1
=3+ > (3662 +12i +3)
i=1

1=

=2+3(k—1)(4k? + 1)

= 12k3 — 12k2 + 3k

PIFIRERIZ AT S

k—1

> p(12i+1)

120k — h) +5) + 3 p(12(k — h) + 1)
h=1

%6. 4 l<a<b<c<d, a+b+c+d=n(n2= 10)%s73 HAKOMIE

n=12kDL X

n=12k+1D& &
n=12k+2D& X
n=12k+3 DL X
n=12k+4D& X
n=12k+50D& X

Th B,

12k3 — 27k% + 20k — 5
12k3 — 24k% + 15k — 3
12k% — 21k2% + 12k — 2
12k3 — 18k% + 8k — 1
12k3 — 15k% + 6k — 1
12k3 — 12k2 + 3k

@EE6. 5 a+tbtct+td=n(n=9) »-o
O<a=b<c<d Fldl0<a<b=c<d FHldl0<a<b<ec=d

% Bl HARB ORI

n=12k+6 DL X
n=12k+7DLE
n=12k+8 D& X
n=12k+9 D& X
n=12k+10D & X
n=12k+11 D& &

12k3 — 9k2 + 2k
12k% — 6k2
12k% — 3k2
12k3 —k
12k3 + 3k2?
12k3 + 6k
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n=12kD&E 18k2 —13k+3 n=12k+6DLE 18k +5k

n=12k+10DLE 18k? - Tk n=12k+70DLE 18k%+11k+1

n=12k+20Dt & 18k% -7k n=12k+8D&E 18k2+11k+2

n=12k+3D&E 18k%>—k n=12k+9D&E 18k2+17k+4

n=12k+40DLE 18k2—k n=12k+10D& & 18k2+17k+3

n=12k+5D&E 18k%+ 5k n=12k+11D&E 18k2+23k+7
T<h 5.

HHl 2-o0RUCbDEARELT, ot z,ylx <y):d 3. z+y=n—2h XD
z,y(r <y) OWbH I

z+y—2 mn—2h-2

T+ Yy WD L X,
v oz, T ’
Ty DL X, “32"1 ="‘22”"1

ThHb, TEREYEADP BT ZBERIBROTINEESEN, RAVNS L E—8T 5.
(z,y)=(L,n—2h—1) &, n—2h—1<h DEFEF—HTE2HDOMNETV. LILL n=4h

DWF BT A s =y=hOWTH 20531 THEL,
$raty=n-2h2 3k0, hs "2,

WEwWDfER, n=4k DLZw=1 TOMDOEE w=0 EBL. TOLERVET, Y

DO AR

N3O & X
[n—l] n—3
3 2
n—2h—2 L n—2h—2
4 =w+ ¥ oy w0 B
h=1 m — 117
h= +1
3
[n—3] n—3]
2 2
—2h -2 L .
v+ ¥ (—H5—-D+ ¥ 1
h=1 (m—17
h= +1
3
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NBFHD & &
[n—l] n—3
3 2
—2h—1 L : —2h—1
A=y & ony 0
h=1 2 m— 17 2
h= +1
3
[n—3] n—37
2 2
—2h—1
= > & —1)+ 1
h=1 2 n—1
h= +1
3

B, TNAEBKHICHET S, n=12k O
6k—2 6k—2
A =1+ ¥ (6k—2-0)+ X 1
h=1 h

=4k
=1+ (6k—2)2—(3k—1)(6k—1)+ (2k - 1)

=18k — 13k + 2
VITRERRIc Tt 5.

#E6. 6 at+btc+d=n(n= 9) TRNDODLDON1ITHY > 2o0ELDObD, 4
bbl=a=b<c<dFhi3l=a<b=c<dFhldl=a<b<c=d
%A tc T HRE O

n=12k D& & 12k—6 n=12k+60D&E 12k

n=12k+10D&&E 12k—-5 n=12k+7D&E 12k+1
n=12k+20D&L&E 12k—4 n=12k+8DLE 12k+2
n=12k+30D¢E 12k—-2 n=12k+9D&E 12k+4
n=12k+40DkE 12k—-3 n=12k+10DLE 12k+3
n=12k+50D&E 12k n=12k+110D&E 12k+6

Th 5.

i a=1THas05, b+e+d=n—-1,160, WHKOLEOmES. 2 XD, finh
"Fohs.

FomiEe., S5romiEe. 6 x5 TEickhikERS.
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wE6. 7 a+b+tct+d=n(n=9) »o
l<a=b<ec<dZFhiTl<a<b=c<d £/ld 1<a<b<ec=d
% BT HARB O
n=12k D& E 18k —25k+9 n=12k+60DLE 18k%*— Tk
n=12k+10DL&E 18k2—19k+5 n=12k+7DLE 18k2 — k
n=12k+20DLE 18k2—-19%k+4 n=12k+8DEE 18k -k
n=12k+3D&E 18k2—-13k+2 n=12k+90D L& 18k%2+ 5k

n=12k+4D&E 18k%>-13k+3 n=12k+10D& & 18k%+5k
n=12k+5D&E 18k%— Tk n=12k+11D&E 18k +11k+1

Th 5.

#E6. 8 a+btc+td=n(n= 97T
l=a<b=c<dZFhiFl=a<b<c=d
%A1 BRI

n=12kDLE 6k—3 n=12k+6D&X 6k
n=12k+1D&L&E 6k—3 n=12k+7DE&ZE 6k
n=12k+20DL & 6k—2 n=12k+8DLE 6k+1
n=12k+3DLE 6k—1 n=12k+9DELEXE 6k+2
n=12k+4DLE 6k—2 n=12k+10D&E 6k+1
n=12k+5DLE 6k n=12k+11 DL X 6k+3

Th5.

AHH 3-o0f AR, h, TEdHE, 2h+r=n—-1L%5,

- —3 -5
T=n—-2n-12 2&0, 1<hs< "73 Ths k-T, hid {"T]d:[”T] i
BO, hERDBETNEE D, g=hichBE, THb5 Sh=n—10& X3 1HLTE]
WTHL EmEEE.

#HE6. 9 a+btctd=n(n=9) Tl<a=b<c=d%AkdTHREDOMIZ

n=12k D& & 3k—2 n=12k+60DLZE 3k
n=12k+1D&E 0 n=12k+7DEE 0
n=12k+20D¢L ¥ 3k—-1 n=12k+8D&E 3k
n=12k+3D&E 0 n=12k+90DLE 0
n=12k+4DL&E 3k—-1 n=12k+10D&E 3k+1
n=12k+5D&E 0 n=12k+11 D&% 0

5.

G adc= gmﬂﬂwmm.
Fo2o%FEnT

6. 10 a+b+c+d=n(n=x9) <

l=a<b=c<dZFhldl=a<b<c=d Fldl<a=b<ec=d
Bt BB O IZ
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n=12kDL X 9% -5 n=12k+6DEL X 9k
n=12k+1DELE 6k—3 n=12k4+7DEE 6k
n=12k+2D¢E 9k—-3 n=12k+8D&E 9k+1
n=12k+3DELE¥ 6k—1 n=12k+9DL X 6k+2
n=12k+4DLZE 9k—-3 n=12k+10D&E 9k+2
n=12k+50DLE 6k n=12k+11D&%E 6k+3

Th 5.

#WE6. 11 a+btc+td=n(n=9) T
l<a=b=c<dZFhldil<a<b=c=d ¥7ld 1=a<b=c=d
AT HARKOMIE

n=12kD&E k-3 n=12k+6DLE 4k
n=12k+10D&L&E 4k—1 n=12k+7DLE 4k+1
n=12k+20D¢& 4k—1 n=12k+8D&E 4k
n=12k+30D&E 4k—-1 n=12k+9D&E 4k+1
n=12k+4DL& 4k—-1 n=12k+10DELE 4k+2
n=12k+50DL&¥ 4k n=12k+110D&E 4k+2

<55,

S z, h, h, h&d s hAPDBEz=n—3h2 1 2kEd LoTl<hs< ”T‘l
Tt |t 1= " tevsas, c=hinsrs, Fubbn=4h0rsiEl

S HA B, ko TEEDE RS

#E6. 12 a+b+c+d=n(n= 9) "ol=a=b<c=dirB3l=a=b<c<d
Eat T AREOME, naEior s 0 0 aor 2 s,

Fo2ooHiEEEDLET

wE6. 13 a+b+c+d=n(n=9) T
l<a=b=c<dZFhiil<a<b=c=dFldl=a<b=c=d
Flhldl=a=b<c=d Fldl=a=b<c<d

%A lo T HRE O
n=12kDL X 10k—5 n=12k+6MDL X 10k +1
n=12k+1DLE 10k—3 n=12k+7DLZ 10k + 2
n=12k+20DLE 10k—2 n=12k+8DLE 10k+2
n=12k+3DELE 10k—2 n=12k+90DL X 10k + 3

n=12k+40D&& 10k—1 n=12k+10DLE 10k+5
n=12k+50DL & 10k n=12k+110D&&E 10k+5

Th 5.

7. £&£8
IO T L /ia%, b, 101 CGk6. 4) ol2ff, 2 (@6, 7) &3 CR6.
2) 645 4 (6. 100 D45, 5 (@@ 6. 13) D 2f5L 6 DEED 15EA 5 LR
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D ERS. nHA/NSVWEZBEMEKIICANTA S ERILT 5.

THE7.

1

1,a,b,¢,d, (a+b+c+d=n2= 5) TESNEERTREVHAEOEE IR

WO TH 5.

n=12k DL E 144K3 — 144k% + 62k — 10 n=12k+6 DL E 144k + 72k? + 26k + 3
n=12k+1 D& ¥ 144k —108k2+38k—5 n=12k+7DEE 144k3 +108k% + 38k +5
n=12k+20D¢E 144k —72k>+ 26k —3 n=12k+8 DL E  144k3 + 144k% + 62k + 10
n=12k+3 D& ¥ 144k® —36k2+14k—1 n=12k+9DEE  144k3 + 180k% + 86k + 15
n=12k+4DLE 144k3 — 14k n=12k+10 D& E 144k3 + 216k% + 122k + 25
n=12k+5DLE 144k3 +36k>+14k+1 n=12k+11DELE 144k3 + 252k + 158k + 35

CofREnICRTEELEH TN 2 5DEE,

g(n) =

LB, LT,
fefEie LT L

3
%_n1+%n—m (n PMEED & ¥)
3
717'_2—n2+%n—9 (n BHFBD L ¥)

brt1=9gM) +bp_g (N2 5) kb, ZIHITRH B ENTES, NS
HELTAHBZERDESTH 5.

n | by, n | by, n by, n bn, n bn, n by,

110 6 1 11 | 26 16 | 147 || 21 | 507 || 26 | 1298
210 713 12 | 38 17 | 196 || 22 | 621 27 | 1534
310 8 | 5 13 | 57 || 18 | 252 || 23 | 759 || 28 | 1794
410 9 |11 14 | 80 19 | 325 || 24 | 914 || 29 | 2094
511 10 | 16 || 15 | 111 || 20 | 406 || 25 | 1096 || 30 | 2421









